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Analogy Questions for SSC and Railway Exams.

Analogy Quiz 22

Direction : Select the related word/letters/number from the given alternatives.

1. Chug : Train::Bang:?

A. House B. Animal C. Door

. Man

2. HIIK: MONP::PRQS:?

A. UVWX B. UWVX C. UXWV

. UWXV

3. RT:QU:: VX:?

AL WY B. TW C.YW

.Uy

4, 343:678::512:7?

A. 1024 B. 1536 C. 1000 . 1016
B Chiku : Fruit : Supermarket : : Novel : ?: ?
A. Book : Stationery B. Book : Bookstore C. Book : Shop . Shop : Market

6. ACD :ZWX::FHJ):?

A.QSU B. UQS C.sQu

.UsQ

7. 225:12:435:?

A. 12 B. 20 C. 25

.19

8. Air : Ubiquitous : : Fire : ?

A. Explosion B. Oxygen C. Water

. Luminosity

0. 986:53::725:?

A.25 B. 39 C.34

.35

10. AU:EQ::EO:?

A.FJ B. IK C.LN

.GN




Correct Answers:

10

Explanations:

1. The first is the sound of the second,

Hence, option (C) is correct.

2.
H J I K
+Sl +5 +Sl +Sl
M O N P
Similarly,
P R Q S
+5lv +5 +5l +5l
u w Vv X

Hence, option B is correct.

Similarly,
V X

—11 +'|l

Hence, option (D) is correct.

4. 343x2=686-(2)°=686—-8=678
Similarly, 512 x 2 = 1024 — (2)3 =1024 -8 =1016
Hence, option (D) is correct.




The second is a class of the first and is available at the third.
Hence, option (B) is correct.

The corresponding letters are the same - positioned letter from the right. However, the second and the
third letter interchange their positions.

A C D

| e

Z W X

Similarly,

F H J

l

u Q S

Hence, option (B) is correct..

225=2x5+2=12
Similarly, 435=3x5+4=19
Hence, option (D) is correct.

Second one is the feature of the first one.

Air is present everywhere, so Ubiquitous is the feature of air.
Similarly fire is always radiant, thus luminosity is the feature of fire.
Hence option (D) is correct.

The numbers follow the below mentioned pattern-
986=9+8+(6)2=53

Similarly,

725=7+2+(5)2=34

Hence option (C) is correct.

10.

+4 +4
[ — | —
AU:EQ :: EOQ:IK
L1 L
-4 -4

Hence, option (B) is correct.
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